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| AM A BRAIN...

YOUR NAME

YOUR ZOMBIE
PAL’S NAME

What is the molarity of solution made by

Y | dissolving 0.340 moles of NH4Br in enough
O |water to make 2.25 L of solution?

How many liters of solution must you make if
$ you wish to use 7.10 moles of potassium
c |bromide and you want the molarity to be
* 10.0500M?
v |How many water molecules are present
> |,
& |in the water bottle at STATION A?
- If you dissolved the molecules at STATION Cin
@ |enough liquid to make 2.81x107"? L of solution what
5 would be the molarity of the solution?
(")

If you dissolve 35.0 grams of nitrogen
8 monoxide in enough water to make a solution
‘c|with 300 mL what wil the molarity be?




| AM A BRAIN...

YOUR NAME

YOUR ZOMBIE
PAL’S NAME

two

What is the molarity of solution made by
dissolving 0.740 moles of NH4Br in enough
water to make 840. mL of solution?

four

If you dissolve 35.0 grams of aluminum
chloride in enough water to make a solution
with 300 mL what wil the molarity be?

SiX

What is the mass, in grams, of the
molecules shown at STATION C?

eight

If you dissolved 4.50 x 10°° grams of Calcium
Chloride in enough liquid to make 520. mlL of
solution what would be the molarity of the
solution?

ten

How many grams of potassium nitrate will you
need to make a solution that has a volume of
1.20 L and has a molarity of 0.75M ?




THE MOLECULES AT STATION C
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...AND | AM A ZOMBIE!

LEVETH %
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1. What is the volume of one mole of any gas at STP? 22 L‘ ‘H’ﬂf A |M5 S.

2. How many grams of potassium nitrate will you need to make a2 solutnon that has a volume of

1.20 L and has a molarity of 0.7SM ? Kms |S [ol.1t QN oA Per.du tble
Concal’| 075 M Moles = Voluse X wfgsm 50.:. :
Volume i.20L moles = (. ‘loL)x(O?S 0.%ml, /1011t 2 91 gtoms kua‘!
MJQS —— mdes= 040 maies [ &l

Directions: Turn the following into balanced equations by filling in the blanks with the correct
coefficients, formulas of ions or solids, and names.

Cation Anion Formula Name
2 - \ \
(&* ZI = Balg boﬁu\ l‘oolule,

ammonion Solfite

Z”““ + 3 —  (NH4)2S03

AL O § > A440_ silver oxide

)& . 257 g iron (ITI) sulfide

. N ek > WA, magnesium chloride
G o, - GGy calcium carbonate

o. | Mg+ LNoy — ﬁg D) rYgaesih aitrihe

w._Scut + Zor - G o "M@kﬁm‘k

2= i
ll.2 K Cr 0{4 - KoCrOy p&hgsivn chromate
\
12.How many molecules are in 22.4 liters of steam?
= | mole = 6. 07<10%5 0 wlecules ( wdh simple a&‘..m;>
3 < Seean 30&)(‘ nheres

13. What is the molarity of solution made by dissolving 0.740 moles of NH.Br in enough water to make
. mL of solution?

Cone e rallon — Concelrdio = <oioae answer,

noles | 6740 sates ,(_f;%ﬁ_t) : 0.661 T
e Bt ConceTaion ‘GP Cd\c&r&\
14. What is the volume of 6.02x1023 molecules of Cl2 gas at STP"
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